Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite Steel\C - Drawings\REV 2018 IBC\TX-4173-74.dwg, TX-4174

POWERED BYI!
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2018
Infemational Residential Code ({IRC), Sections R301 & Ré09 and the 2018
infernational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject o the following conditfions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo orless than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject fo further engineering
analysis.
TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notfes
2 Door panel details {lip lite insert glazing)
3 Stidelte panel detdils {lip lite insert glazing)
4 Horizontal cross sections
5 Vertical cross sections
6 Vertical cross sections
7 Frame anchoring

112.25" MAX. OVERALL

FRAME WIDTH

ADOCVARY
ﬁ;%v—’; }}1112
x93
S iz it R
AR TS BERNCAY;
Sxs ixi o ah
s 1O
"’I\.' T a0 Ds -
? * H > %Y
guiliuiz G%:
‘)O'z : iz s o
O W%, 10 Fo
1?(0" =O : "o
2, (2 1S
S i TR E
ll\ '."““ 1 .\_‘\’-“
T

10.2¢(9

98" MAX. OVERALL FRAME HEIGHT (INSWING)

97.125" MAX. OVERALL FRAME HEIGHT {OUTSWING)

OXO

INSWING

+30.0

-35.0

OUTSWING

+30.0

-30.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico Fl. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

%)
=
2S
0
og

.
gL

<t

o =
> - <O
=B = R

=1 i

[} Wi
7|

<| Fx

= x €3

Q o

S 15 Bl

o o &

I <

o o

[73) U’)U')>..
] I Bt ] [
'-51.
ol%
K02
Ok
8|2,
el AN e
IOy
OB N 0
R 0l 1=
ol0{QZ] O
Eh‘l}‘ =
SIQIRIS 2
£ 1213 1@
sl |~
Sl
?goo
Wi
ol ig|o
alRlalg
<| <<
o) WM
"~
DESEE
<
SEENE
s
L I Rt

oate: 7/12/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. 8Y: LFS

DRAWING NO.:
TX—4174

sHEET 1 oF 7




ud
STILE STILE ’:,;:j: iy ’3..,{’51"*23 gg o Ba
W D fod .’."’ iz X g a b @
(LAMINATED WOOD) 25 INTERIOR AINATED OGP T0P RALL o iEL, NEL
s tp i L N T
Li__ _I_ (WOOD)—\ﬁ gé%“‘g : b%g gﬁl‘g 2%
i 3 12313 3 Z2Z
= S| 2 2! T LT O s, O 58,4 0
2 E; L R E; Igz gt Z b oo gz
_— 3 = = ll +« «-?:’ : Pl oM
3 Z = [ PV R & O EB
e | 3 s P I
i R R R ; Z w
Y Y 24 Ga. STEEL SKIN —\ 3 & §%g s
118" | EXTERIOR 118" £ Rzt X
PARTICLE BOARD | 2 D "
LOCK BLOCK § @ g“’
(12" HIGH) 5 ©
]
&
1"\ HORIZONTAL CROSS SECTION
\"_’/ 02
<N
L3
Q0
< b
o L Wit
D > =Zl
35.75" MAX, v, S |z a2
PANEL WIDTH INTERIOR EXTERIOR B
/i < O3
7 oy ol O
2]" MAX _ 0] O [e) (7)%
DO WIbTH : #6 X 1-1/2" PH SMS 2 o 3
o <
< 2 } GLASS BITE 1/2" « g
(%] wnin
INTERIOR SRS
Y ———1/2" NOMINAL GLASS THK. me
| Q.
o)
J R 1/8" TEMPERED GLASS 35|
/ 3 *_— AIR SPACE 3I1€|2|
< ANEE
N ~~—1/8" TEMPERED GLASS S2lol |2
o o ‘ol0|BZ] 1O
o I Vil ol=] (=
0b x0 /10 STEEL SPACER sIRI2LS 2
om 3w X FOAM CORE : Liol@lg] |
Ge 2 &Y, . . Jells B
<d 29 EXTERIOR Q'SO SEALANT (POLYURETHANE ) o ololElE
-1 < L
LX o LOW TACK SEALANT . ~131918
SEE , ) pa a>|ala
HARDWARE | | / G1)-GLALING DETALL - T Tohs
/ ip Lite Insert Glazin 5 id I g
TABLE / P 9 BOTTIOM RAIL R NESRE
(WOOD COMP.) ™~ ™\ j}\\,t g gk <
| ||
: R o
MASONITE : OWG. BY: JK
Insert glazed MANEAGIANER L v IR CHk. B:  LFS
(Steel) cwikser | LATCH: KWIKSET SIGNATURE SEREES (991) (2 "\ VERTICAL CROSS SECTION ORAWING NO.:
DEADBOLT: KWIKSET SIGNATURE SERIES (980/985] \2/ TX—4174
SHEET 2 oOF 7

RiClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite Stee\C - Drawings\REV 2018 IBQO\TX-4173-74.dwg, 2.4

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON} BUINVYLINBNOD SNIQTHAg ‘MY 2102 o)

NOISIAIY
ZS8L1—d # NOUWVMISIOZM J0 IJAVOl4UNED NOZ\NSO 183ISNI 3117 Q:v S _
SYIINIONT IVNOISSIHOHd 40 Quvog SvxXal Ad 31VQ [ONloy| . ~
L616'650 e 18 o suoug SVL3a T3NVd 3L7130IS S47 TIIS ONLVINOULYY 030av|£L/20/2ZL] L ||| m N r_
S6SCE ™4 ODUIDA 0CZ Xog ‘O'd \Sv "A1BWN3SSY d0 Lavd | S47| "d'0 3SIAFY/STIOHSIYHL a3aav|ei/10/1L| € N M LS| °
*ONI ‘SINVLINSNOD ONIgHNg @, 3000 241/28! 8102 0L ALvddn NG g | 3_
sS4 %® NOUdO sulbijuoisng, dav|eL/gz/0i] € |™ G 5l 2 x
£ZTIYOLF ‘T'd SvXIL VaNand SEIEIFE m
‘I'd PIUIYDS 4 uopuk :Ag pedodedq sjuswinoog :12Na0Yd 1318|3513 =
&8¢0/
;...v o/, KN
S 2t XL LT . ~
u .H%oo mNP¢OWc3 co-a .o
K.:SH e 4
7 TAINHOS, m_..mwmm?.n
AT H 1
s, X
NMN . oo-o'o }"0,,
-~ »\ ,w.h 30 2 25 3 o
T @)
oz =
S o
o =
t #1180 o
el :—.m.o -.AW—V
7
173
O
3]
<= y % M
O
e 5 -
, &
\ ( -
oz g T
58 9 y X 22 mw
a o oz L 24
o Q £ LLj oD s0Q
o= x = O x 50
= = “ Z 2 EQ
o - M = o0
o] =
O
=<t
o~
v
xI
o o o
) )
< 3 35
o O O
T 8 8
Z Buw O
s o O o
o 3 232 2
w = zZ =5 =
= L S 22 R &
= 1\, 23
L o <
— y74 —d —t
o0 l/4 E &
] &5 9 2%
M O |
4 <| .2
o (©) BO
| I R
EEFE;:::::VU. o2
.Il' - 2
o w = 3o
= P“E.\.E.E 111712 OrS
C L
e : ®
) (%) o o
S 2 9 S
. (a4
o " o S E i B
D = ~— & £ 25 <
g, E 2 = -y :
Z ‘ &S o % Q
~ ET
o
(@]
X
mw
mw
< o]
. s E|8_
o ZIo%
x oo 3
N <52
‘ - =g
= T b
mﬂm tn = 23 m IHOEH 'O T
) N == XYW 6L
=1 N "< w- O
>3 Sl = Ce &g
= - e IHOIH TINVd
o 400a XYW .56
<
Z
=
3

V'€ BMPYL-€£LY-X1\D8) 8LOZ AF¥\sBUMBIQ - D\129)S B3UOSEIN §8S-H - IQL\SU] $0 1daq Sexa) - G\LNINVINYId BINPUISIUBID\Y



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-585 Masonite Steel\C - Drawings\REV 2018 IBQ\TX-4173-74.dwg, 4.4

CORNER PADS
(TYP.)

@

| et ].5" i

435"
L4

=
X\

/77

-

2.5

FATBOY MULLION

NOTES:

1. Spacing for sidelite screws: 6.5", 35.5", 57.25" and 85" from head to sill (4 fotal}.
2. Spacing for mullion screws: &' from each end plus 3 more equally spaced (5 fotal).

PINE

WOOD

COMPOSITE

N

(0000

0000

4.375"

25"
MULLION

"Fusionframe”

;éf}&; u: B io. &‘;,;\lzl "-ég 0
Soigitil) Wi 8 BB
5 Ti =29 Y&+ @ u2
5N L19I% B Q%Y ¢R T
H W ile O 0 = b
53;% wit EzN o |%y 45° L=
2% zi2 SOAX|sd Bed 2
% Y > ZZ
o, Q: ¥ S“ b3 22 58
(};({:-.‘.“‘ % § 2 g 3 © ﬁ’:
1 000 Z Lo B>
BACK-TO-BACK JAMBS: ‘111{{{\,& §‘¢,.,,..~.~ s 88" g%
" H i _ N0 3
"EusionFrame” FusionFrame" {1 OR 2-PIECE) ﬂ; 9 x S EE’
MULLION \ B Ea. O
& 592 gp
n‘_- m oo 06
(O D) INTERIOR #10X2-1/2'PFH |2 § ok
0 0O WOOD SCREW P g %
#8 X 2-1/2" FH COURSE 0 [ | ENDURA WEATHERSTRIP (SEENOTE 2) 3
THREAD DRYWALL SCREW 0 0 (QEBD/PE 650) 8
(SEENOTE 1) DOOR PANEL  ENDURA WEATHERSTRIP SIDELITE PANEL
(QEBD/PE 650) /
wn
= - ’ x’ S ?:é
-~ ~ g 9. ko
’X 2 o1y 8%
=z O =0
/ O o3 £
%1 X)) (]
#10 X 3" PFH 0 T
SIDELITE PANEL #8X 2-1/2" PFH ) 27
#8X 1" PFH SMS WOOD SCREW |- x
#8 X 2-1/2" PFH WOOD SCREW DOOR PANEL tatcH WOODSCREW  (seeNOTET) |3 S|
EXTERIOR STRIKE PLATE S i
#8 X 3/4" PFH SMS 4" HINGE EAIERIVR & &
/"3 HORIZONTAL CROSS SECTION (“4™\ HORIZONTAL CROSS SECTION ol |88k
\U Outswing shown - Inswing also approved W Outswing shown - Inswing also approved ol
Sl
$|0|o
4-3/8" FATBOY 4-3/8" FATBOY zI2|9|_,
PINE MULLION PINE MULLION SN
2} %3]
INTERIOR \ CIENe| 2
= #8 X 2-1/2" FH COURSE 2|2ISIE| 1O
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW S & % § %
THREAD DRYWALL SCREW (QEBD/PE 650) (SEE NOTE 1) tolle] &
Bl ]
(SEENOTE 1] \ DOOR PANEL ENDURA WEATHERSTRP | ! / - SPRTEPANE K
[ : %1 - : nin
W A 8158/8
\\ / < =<
nl o)) wiMm
> e SN X NEERE
- S [19) — M=
\ \ g w\ \ ) / 1 NESNGE
Ny N ™ =
SIDELITE PANEL 48X 1" PFH SMS #8 X 2-1/2" PFH WOOD SCREW ONTE: 7/12/12
#8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH SCALE:  N.T.S.
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE e g K
CHK. BY: LFS
m HORIZONTAL CROSS SECTION m HORIZONTAL CROSS SECTION DRAW';;B; 174

\U Outswing shown - Inswing also approved

W Outswing shown - Inswing also approved

SHEET 4 oF 7

© zo12z R.W. BLILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI'- DR-585 Masonite Stee\C -‘Drawings\REV 2018 IBC\TX-4173-74.dwg, 54

i
2X FRAMING 2X FRAMING 2X FRAMING 202 o
(G >=0.42) 55 g
- (G >=0.42) [G>=0.42) — '- ] h,::,c“’* - E ﬁ' 3 2
~ e — i ™S Fo~Z Ex 2 ug
\\ / LM \ 5-\3:“. Tt ﬁhj S '.g g:
i -1 - ML EXT. SHEATHING [{1} L S Ot co 2. gl
EXT. SHEATHING |}/ o o N1\ EXT. SHEATHING 1 I 2. @ B9 .
1P N \ DRYWALL L |t 1 ! v gtsi. w gg g % % z
= ) DRYWALL : . 3 / | # ) DRYWALL ‘? '... = g{‘_‘ < § % oo
4L R | ] L ?(}\32} 8 ) 5’g‘°. %g
ki ‘ : !“ - ,;:v’ ’?e \(%. 4 ] 2 E
1 e S P 1Y y T Cils £EQw u
i .|~ #10X2-1/2"PFH WIN_#10X2-1/2" PFH . "nh*«_h ..;F & SR 2o
1/4" MAX 1 L WOOD SCREW L I3 WOOD SCREW ! - e 3 232 .
1 i / ’!‘ . -_ ) O
4 " S ! \ 2 3 :5 o
SHIM SPACE ! o S;{;\‘A g"P’;’éE ~ it y 1 —I™ #10 X 3" PFH £ Bg §§
NV e — WOOD SCREW 9 i
©Zo b Z T
Sge = amax” | P gg
‘ ‘ SHIM SPACE 3 ©
N [a]
\ HEAD: PINE [N HEAD: "FusionFrame" (1-PIECE) 2]
' #8 X 2-1/2" FH COURSE HEAD: PINE ENDURA WEATHERSTRIP =
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) &
(QEBD/PE 650) (SEENOTE 1) = 0
i EXTERIOR w 2 158
EXTERIOR ™ INTERIOR INTERIOR EXTERIOR TERICR NOTE. AERS
. Ll
{1\ VERTICAL CROSS SECTION ("2 "\ VERTICAL CROSS SECTION (3 "\ VERTICAL CROSS SECTION I+ Spacing for sideite screws: g 2
w Outswing shown - inswing also approved w Inswing shown - Quiswing also approved \y Outswing shown - inswing also approved §" from each end (2 fotal}. = ol B
. . 3 O} ui
o — >
O x
& =
SRR
1/4" MAX. ) L§ @
SHIM SPACE 1/4'MAX.  #10X 2-1/2" PFH sISla
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW zlol
U 1 JAMB: PINE o 1 1 A Q N =
0.75 —‘[“—*“ 0.75" 0.75 DRYWALL JAMB: "FusionFrame DRYWALL =NGiE
_{ J— \ / / (1 OR 2-PIECE) / S8 |n
— £ INTERIOR \ a— AN ENE
COMPOSITE L / e / gggg 2
SNAP-ON tlo|gle [
\ - #8 X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE SEIER| |”
CAP THREAD DRYWALL SCREW , U TR Y A THREAD DRYWALL SCREW § WwiEl<
N (SEENOTET) « . (SEE NOTE 1) “i5|ele
= ol& |0l
% n \ \ SREE
'<3:
= , AN 2| oo
SN NN 2X FRAMING 2X FRAMING NEEEE
/ % LVL z AR (G >=0.42) (G >=0.42) S NS
S ! “““““ M N}~ (ZD
“‘ “‘\““““““““-‘ = DATE: 7/72/72
— 2y 125 b= _ | o5 |- / \ SCAE  N.T.S.
' SIDELITE PANEL SIDELITE PANEL owe. B:  JK
JAMB / HEAD JAMB / HEAD JAMB EXT.SHEATHING  EXTERIOR EXT. SHEATHING o v LFS
PINE i A /4" HORIZONTAL CROSS SECTION /"5 \ HORIZONTAL CROSS SECTION N

W Outswing shown - Inswing also approved

W Outswing shown - Inswing also approved

SHEET 5 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD| - DR-585 Masonite Steel\C - Drawings\REV 2018 IBO\TX-4173-74.dwg, 64

ENDURA

DOOR DOOR SWEEP

PANEL AN

’\1’“

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEENOTE 1)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION

A\

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION
w inswing Articulating Threshold

SIDELITE

RaKTs)Do DRYWALL SCREW
&\\\\\, N (SEE NOTE 1)
‘ RIOR EXTERIOR

PANEL\.. m @ @

#8 X 2.5" COURSE THREAD — |

ENDURA WEATHERSTRIP
(QEBD/PE 650)

» .?I.
DT

S

>

4

m

X'Q,*Q
=
..,.,_é}.g;s, ¢
‘SCHMI

AEBLIVESTSOBERS

INTERIOR EXTEROR

2 'YNDON F.

5
ol
LY

P.E.

4
TEXAS P.E. #1 94’1 23

Lyndon F. Schmidt

” NOTE:
#10X 2.5" PFH WOOD SCREW OR 1. Spacing for sidelite screws:

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW ¢" from each end (2 fotal).

7”3\ VERTICAL CROSS SECTION
W» Outswing Bump Threshold

aZ

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

\6/ Inswing configuration

INSWING ADJUSTABLE THRESHOLD

ZAIL4565
bl 456" l
5 )} INSWING ARTICULATING THRESHOLD
IACL4565

&
=
bl 456 |
17) OUISWING THRESHOLD
ZOBL4565

W Outswing configuration

=1

bl 456" | [l 456 | £ 456 ! ! 456" |
INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD 2} INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD
2 ) \4565eN TAILAA4565 TAIAA4565FN TAI4565RDS
? ! 4.56" ! % 4.56" ! ? 4.56" !
INSWING ARTICULATING THRESHOLD o) INSWING ARTICULATING THRESHOLD 10 }INSWING ARTICULATING THRESHOLD
7 ZACAAASE5FN ZACA565RDS

ZIAC4565FN

&
=
b 456" | bl 456 |
12) QUTSWING THRESHOLD 13) QUISWING THRESHOLD
ZOB4565FN IOB4565RDS

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.8197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

o
S 2
e
s ol =5
e ul., o
> VIR EN
S 3T &g,
'-L'g:)u >0
58 8
)
.. | ©
5 04
= S
S E
& <
o [a 8
[9)] n >
£ 5lEE

UPDATE TO 2018 IBC/IRC CODE

10/28/19]ADD “FusionFrame" OPTION &
12/03/13|ADDED ARTICULATING SILL

1

2 |11/01/16|ADDED THRESHOLDS/REVISE D.P.

NO. DATE

3

REVISIONS

oate: 7/12/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4174

SHEET 6 oF 7

© 2012 R.W. BUILDING CONSULTANTS ING.



RAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite SteelC - Drawings\REV 2018 IBO\TX-4173-74.dwg, 74

s o HEAD ANCHORS: Shaie
05% ZX FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB) vat
oo (BY OTHERS) ¢ #10 X 3" WOOD SCREW (1-PIECE JAMB) AR
3°3 M 2" ~ JAMB ANCHORS: .;‘.—:"*:" o
v A (mp) ~ & & #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) gt o
* =1 = vy (TYP.) #10 X 3" WOOD SCREW (1-PIECE JAMB) B z
_ N— o — Ao
T SEE HINGE [ T T T T 1 ) aq%;., ] e
o DETAIL 1 * i §
. f iy W \ / N
3 SEE DETAIL 1 N
& z
Y l 3 z
o, o
- L = ~ 008
3 > B 70
P B3 N\ e g 2 YT ssxoiz rews
‘\ N © o ~ e /
NO o Ll o
= 1 n é"‘ - b <
5 . —— /] l #BXT"PFHWS <=0 Il ol ™1~ 48X 3/4" PFH WS
~ ®
* "1— 4" X 4 HINGE
)l SEE HINGE ] \
il PRAL2 SEE STRIKE AN
| D =) HINGE DETAIL 1
B PLATE DETAIL =
SEE DETAIL 1 = g \
/ - | #8X2-1/2' PFH WS
ER3 . 5 | +i T =
] Il I INK T i . o Llle
] i P ? L #8X1 PFHWSé:,-;*s #8 X 3/4" PFH WS
%x 4'(TYP)) SILL ANCHORS: " — 4" X 4" HINGE
2" (TYP.) —o] |er #10 X 2-1/2" PFH WOOD SCREW \
¢ 1/4" X 2-3/4" ELCO OR
H’NGE JAMB FLOOR SUBSTRATE MATERIAL FRAME ANCHOR’NG ITW CONCRETE SCREW STR"(E JAMB H'NGE DETA"_ 2
CONCRETE (MIN. 3000 PSl) X6
WOOD (G >=0.42) _
JAMB NOTES:
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMSB. #10 X 3" PFH WS <= E&%BO” STRIKE
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. |
INTEGRAL MULLION NOTES: ) B
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame" BACK-TO-BACK #8 X 2-1/2" PFH WS ———] LATCH STRIKE
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. . PLATE
CONCRETE ANCHOR NOTES: '
1. Concrete anchor locations at the corners may be adjusted to maintain the min. STRIKE PLATE DETAIL
edge distance to mortar joints. #10 X 3" PFH WS
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo #10 X 2-1/2" PFH WS (4 PLCS)
maintain the min. edge distance to mortar joints, additional concrete anchors #8 X 3" COURSE
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. THREAD \\ /\
3. Concrete anchor table: DRYWALL SCREW K. J;
— T EIEARANCE TN EEARANCE A\ N - - o -
Loy MAS D JACENT . N S N N N N
~ (& 3 i
-; {»)
o a4 1-3/4" 2-1/2° 3
TAPCON / f DETAIL 1 DETAIL 1 DETAIL 1
ELCO o | /4" 1-3/4" T 3 INTEGRAL MULLION ATTACHMENT  INTEGRAL MULLION ATTACHMENT INTEGRAL MULLION ATTACHMENT
ULTRACON PINE MULLION "FusionFrame" MULLION "FusionFrame" BACK-TO-BACK JAMBS

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Vairico FL. 33595
CERTIFICATE OF REGISTRATION # F-—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

@]

=

S

& &
& .

a | =

z o <

Lo ELU
L

8 2

<|

5 ol ™~
8 o
o E
[ <C
0. o

ol I T A P

PRIV S W § U}

UPDATE TO 2018 IBC/IRC CODE

10/28/19]ADD "FusionFrame” OPTION &
12/03/13|ADDED ARTICULATING SILL

2 |11/01/16|ADDED THRESHOLDS/REVISE D.P.

1

3

NOJ DATE

REVISIONS

DATE: 7/12/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4174

SHEET 7 oF 7

@ 2012 R.W. BUILDING DONSULTANTS IND.'




